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Seven plus one,

Seven minus one,

After adding and subtracting equals what?
Seven plus one,

Seven minus one,

After adding and subtracting remains seven.
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(1) 3£ [zhang] measure word
. . . zhang (unit of length, equal to
Bizarre, bizarre, really bizarre 3.333 metres)

A cricket stomped a big hen to death
A balloon bumped into a big machine and broke it
An earthworm's length is 7.7 zhang.
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A lacquerer in alley seven,

Atinsmith in the west alley,

The lacquerer in alley seven used the west alley tinsmith's tin,
The west alley tinsmith took the lacquerer in alley seven's
lacquer.

The lacquerer in alley seven is angry that the west alley tin
smith used his lacquer,

The west alley tinsmith ridicules the lacquerer in alley seven

for taking his tin.



